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PART—I / wri—I p
CHILD DEVELOPMENT AND PEDAGOGY / T1el farshrar &ir Tigr-me

Directions : Answer the following questions

by selecting the correct/most appropriate
options.

1. Teaching learners at varying levels of

difficulty based on the ability of
individual learner is known as—

(1) errorless instruction

(2) differentiated instruction
X (3) selective instruction
) (4)/ precision teaching
2. Maintenance is the specific stage of

learning which is antecedent to
stage of learning.

(1) generalization

A2) acquisition
J (3) motivation
(4) independent
3. Zajonc belieyes that cognition and
emotion are—
(1) integrated
y\ : / (2) interdependent
| | (3) independent
(4) interrelated
4. A teacher is feaching .children by

demonstration of a task to correct the
performances of an .already learned

70  task. He is using ‘method of | -

teaching. d
(1) modelling
(2) imitation

(3) observation

(4) correction
v

P-I/N LS, e

frer ;. Piefofad vt F IR B FH A Ty
WWWI

1. AfpmEatsll @ ARFTa @A % YR T 3
Fredl & fafie Wl F 2= A W g e
£ Ry A gl 9T 8 :

(1) AT gRA
(2) faudt sgerm
(3) EiT SHRM
(4) W fig

2. ghrem siitrm = w Ak = R, S sitm

¥ RO gEad B
(1) A=A

(2) =it

(3) =i

(@) bR

;M 2
(1) whrpd
(2) =g
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. According to Mann and Janis, decision

maker children analyze the problem,
list the alternatives and weigh each
option for its advantages and
disadvantages. His behaviour reflects—
(1) autocratic

(2) surveillance

(3) vigilant

(4) outgoing

.'In _thinking, a child as a problem

solver evaluates the truth or likelihood
of statements.

(1) logical
(2) creative
(3) aesthetic

(4) abstract

. The task in which the children get

experience while enjoying themselves
is known as—

(1) probiem type task

(2) drill and practice task
(3) consumer type task

(4) producer type task

. Multisensory approach in teaching-
learning is the simultaneous use of i
- visual,

auditory, tactile and
senses to enhance learning.

(1) observational

(2 kinesthetic
(3) vestibuiar

(4) perceptual . ;¢

5. B ¥t 4w % wgEw, Pl o w a=

Hre @ fd @ %, feed # g T
% afn T T8 A THAW F TSF TEe W
=R &) TG SHERE WD Al a—

(1) Trga

(2) =eFH

(3)

(4) TradaH

. & GFE1 GuisE o= IR 3 YR W

FoT ) G A1 GATE] T e H T
(1) e

() ’F‘W

(3) diedas

(4) o

g fe e T R T S T S

T AP TH A T, e Tl R

(1) AT TR B

() R v = wH

(3) A T FE
(4) Frwtomers AR HFE

. g et A, s 3 s

wah 3g 7w, o, wE ek weeed
lﬂ@mauﬁm%ma@?%‘l,

(1) EEA
(2) i
o)

MEERD.



9. The development from central .part of
the body towards peripheries or
extremities denotes the—

(1) principles of cascade development
(2) principles of radiated development

(3) principles of decentralized develop-

ment
/
(4). principles of proximodistal develop-
ment

9. TR F L@ vm @ wftfil @1 gt F A7 5
frerg gwiiar 2—

(1) | fosm < fagidt #i
(2) faferwofta faekra % frgrat 1
(3) Terhslipa ferepme % Rrgral =i

(4) wea-ara fammma % Rrgral =1
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1_0. School is an institution of socialization
of children where—

(1) schoolteachers occupy the central
position
\/ (2), schoolchildren occupy the central
: position o ,

(8) school routines occupy the central

position
(4) school activities occupy the central

position ~

11. If you join a teacher fraternity and
choose to dress like most of the others
in your group, you are exhibiting—

f (1) conformity
(2) group identity
(3)/ obedience

(4) compliance

P-II/N

10. Tga w=l % @S0 H T U ween
A

(1) mm%%ﬁaﬁmﬁm%
(2) SH@ T et w= 51 fan @
(3) @ WM T h Rt w1 gar 2

(4) 7HE oM e A it w w2

| ll-mmﬁﬁww%@m%mm

w%mﬁﬁ‘ﬁﬁmmwm
TR, T o e R Ay

(1) e s
(2) W ) veam
(3) g WWW



12. The concept of object permanence is 12. Bt awg & woifres B sEuwon fEm %

attained during Piaget’s stage of o 5 =T T U B SR
development. y

(1) formal operational (1) froenfer e

(2) HIh-TTHE

(2) sensorimotor

M preoperational (3). KSR
(

(4) concrete operational 4) 7 qieETer

13. Individualized Education Programme is 13. waferma i a1 A F e A
planned from the perspective of— A ST ®
(1) e-Learning Education Programme (1) 3-=afrm Taren sl
(2) Special Education Programme (2) Terd faven wrelsem -
(3) Child-centered Education (3) STE-Hixd e wEiHH

>O Programme

: 4 Frerrerft foen wrisw
(4) Open School Education Programme ) ,Eﬁ

14. WA I AP &

o | | 4 s =
14. Between months of age, most 31? el 23 @% 3 .
children begin to combine words into ey TRt e H e
short sentences while speaking. R |
(1) 30 and 36 | (1) 30 @ 36
(2) 12 and 18V~ (2) 12318
(3) 18 and 24 , ‘ (3) 189 24

: (4) 24 and 30 (4) 24 ¥ 30

TechohNoHdInf"_¢

15. /The concept of Intelligence Quotlen_t 15. ey @ o ERO £ 3 ' &8
or IQ was developed by— : - 3'?‘ 1 "E "

7L_ (1) Terman i | (1) & % gq
(2) Galton ; oh (2) e % B
(3] Binet v e (6 @ mvm
)517/ Sternv” g Y P (4j =¥ s

P-II/N | | 57 ’ T ~( pToO.
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16. Creativity is thought to be related to

the concept of—
(1) divergent thinking

(2) fluid intelligence

\/ (3) crystallized intelligence

(4) convergent thinking

17. The acceptable sound combinations of

a language are specified in its
rules.

(1) inflection

\ ;
\/ (é) phonological

o

19. Ra'viv; repairs appliances by testing

&

v

(3) grammatical

" "™ Techofworld.

18. The position where thought patterns

are influenced by language is called—
(1) sociolinguistic genesis
(2) cultural tendency

(3) linguistic determination™”

" (4) cognitive bias

hypothesis about. the cause of the
malfunction based on his experiences
with the symptoms. He uses—

(1) heuristics

(2) insight

(3) algorithms

(4) mental set Qb

P-II/N

16:

17.
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18.

GATEHFAT F # Fagmon A iy

HHT ST 2|

(1) fafaw 9=
(2) 74 =ifghar
(3) @R =g

4) arfrga 99

et v ¥ wiepd e GaAT B FEH
Tl % ofaria =amn < g1

(1) fasfen-fowren

(2) @fF-ga

Techo 'wovla@{wﬁkn

& |ren R A B e gr wnfa D
CF W T Rt e i

(1) EmTfE-wTRR Sqga
(2) weHfa v
(3) s Fuiig

(4) H’Wna

19.

Wﬁa@%ﬁaﬁta«*ﬂvﬁ%mmwﬁﬁ
G % FRO H IREET G

4wuﬁaﬁmrmam%la%wm%_

(1) <rgar fafy =
(2) A

(3) Fem-faf =

| (4) mﬁmmm
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20. Divya often divides the assigned job

21.

into small tasks which she can handle
easily. She is using—

(1)
(2}

functional fixedness
reductionism
secondary elaboration

(4) subgoal analysis*/

the roles of
This statement

“Society determines
male and female.”
articulates—

(1) gender as a social construct

\‘/ (2) gender as an inherent construct

S

X

22.

=)

(3) genderasa hereditary endowment

(4) gender as an intuitive construct

Grading, coding, markmg and credit
accumulation systems are some of the
examples of—

(1) scoring procedure of assessment of
learners’ achievement

evaluation procedure of answer
sheets of the examination

syrnboliziing‘posit‘ion of cili_idren in
the class o

(4) depicting the academic progress in
report card

23. Assessment of learners’ achievement

helps the teachers to—

prepare activity log for teaching

\
(2) maintain the performance record of
learners
/ ; s, :
(3) evaluate the effectiveness of
pedagogy
(4) make ab111ty grouping of learners in
the classrooms i ‘ :
P-1I/N

21.

20. fem s TRRE wEl w wr-wr e

¥ frfe = AWE S SR R AR IEE
Hdl B— 5

(1) Torarene srgan Frame ffu =

(2) A FA H & w

(3) facfrares fereamon farfta =1

(4) Sueea fergeram fafr =

“qey ofR wfken H e 1 FHafon T
¥ F€ HuA A g fh—

(1) el T WA A 8

2) ﬁﬁm@mﬁ%m%

(3) Sifireran T AR ST

4 ﬁﬁm@mﬁm%

22. Men, WfEn, oA ol He @A woniAl

¥ O A &

(1) s B e & e A
T -farf

(2) qﬂm%w—rﬁi%w’ EIRIERI
(@) e i w=it R i P R
(@:ﬁ@ﬁﬁ%ﬁ@ﬁ&mﬁ$mﬁﬁ

Mﬁﬁm@mmﬁ@ﬁ
mm%—

1) ﬁm%ﬁmnﬁfﬁﬁ!ﬁﬁ@wmﬁ
(@) witmrtel 3 wawa w1 ferrd @

(S)ﬁmmﬁﬁﬁﬁuwﬁamm
AT A

©(4) wenel A i ¥ A
st SRR R b DR e e

Mo



24. Inclusive Education is based on the
principle of—

(1) world brotherhood

\%2)

3) equity and equal opportunities

social equilibrium

(4) social existence and globalization

25. The Rights of Persons with Disabilities
Act has been enacted in the year—

(1) 2016 »~
~ ]
(2) 1992
(3) 1995

(4) 1999 o

Techofworld.In

26. Children with individual ‘differences
should be taught in a school having
teachers—

(1) trained to make them homo-

geneous learners

ENE b

(2) to teach in different sections of
: classroomsv based on their
70 ‘ individual differences

(3) trained to use different pedagogy to
. 'meet their diverse learning needs:

 (4) trained to teach children with
~ specific individual differences

P-I/N

24, g foen % fagia o annfE 3
(1) fava syga
(2) weRe wHger
(3) ¥9aT T HHH AaER
(4) wrHTTR AR TF et
25. fesgiem sfteR afyfmy o ____ﬁapl
R ) 5
(1) 2016
@ 1992
(3) 1995
(4)‘19.99‘
26.‘wﬁmmﬁﬁw3ﬁa®‘a%ﬁaﬁq¢ﬁa;m@
- T R e el R

(1) = B wwey

SIRUCET ) S

(2) = B & S T i

e el % ffte i v

~

(3) Wfqw sitem strarvasian aqgm fafm

Regor-atfpmy
BIRIE G &/

(ﬂ.ﬁﬁmwﬁmzamﬁmﬁﬁ s

% fore wfvrfa

SRR ey §
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27.

28.

29.

P-II/N

0. When chlldren thmk to 1nterpret the

The Right of Children to Free and
Compulsory Education Act, 2009
ensures the rights of children with
disabilities to free education from—

(1) 6 years to 22 years
(2) 6 years to 18 years v
(3). 3 years to 18 years

(4) 6 years to 14 years
Providing teaching-learning materials

in accessible formats to the diverse
learners implies—

(1) Universal Design of Learning

(2$ Universal Inclusive  Education
Ethical Considerate

(3) Universal Code of Teaching
Practices

(4) Universal Humanistic Approach of
Teaching

involves Vself-awarene‘ss, ». and
control of cognitive abilities, e.g.,

planning, reviewing and revising, etc.
(1) Accommodation .
(2) Centration

(3) Metaco gmtlonr/

(4) Cognition T e C h OfWO |

received information accordmg to their
experiences, it is called—

(1) concrete thinkingJ b
(2) reflective thinking

(3) creative thinking

(4) abstract thinking

27.

28.

290.

Fyes v atad am e sfumn Afufem,
zoogﬁwmaa‘iﬁﬁwﬁw%afmﬁ

1 gifTaa #a 8—

(1) 6 ad & 22 79 % % fag

(2) 6 a9 ¥ 18 T % % ferg

(3) 3= @& 18 = 7 % ferg

@) 69§ ¥ 14 94 7% % fog

g oftrmeaett % fog g wEd A

Aeur-atrm oAl W wH H AR
g 2

(1) i < AT =

(2) T wwrah fen % Ao famm

(3) Rreor srerafireha it A Afed

(4) Rregor % GEfE e g
EETEHdl T SYETs gEae & e,
SR A, Gt S 3R e HE
(1) wHRESH

(@)

@) <

(4) @R

ld.In
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IMPORTANT : .
Question Nos. 31 to 90 Either from Part—II

(Mathematics and Science) .
Part—III (Social Studies / Social Science).

Candidates have to do

Or from

et « GheTE 1 S e 31§ 90 W A
qr—11 (ftra e famm) A wm—IIn (AT

e | AT fae) @ A ¥

PART—II / ar—II
MATHEMATICS AND SCIENCE / wfora 3R f%ran

Directions : Answer the following questions
by selecting the correct/most appropriate

options.

31. Which one of the followmg is not a
mathematical process? ;

(1)
)
3)

(4)

Measurement
Visualization -
Memorization v~

Estimation

TechoﬂNoHd

32. “Errors play a crucial role in learnlng of
mathematics.” This statement is—

(1)

QP

(3)

1,

true, because errors prov1de
feedback about the marks they
obtained

false, because errors occur due to
carelessness

true, because errors reflect the
thinking of child

false, because mathematics is exact

Ay . Pefafed T % W A F g wd/w=
g fawed gl

31. ffafas # ¥ FA-H TH EE e

& &7

(1)’"‘“‘

(2) HFEETA

(3) &

- (4) e

In

32,

,"mm'ﬁmmm@ s@mﬁwﬁ
R TE T 3—

(1) ¥, i "maqaﬁ%saﬁﬁ
mmﬁﬁ

(2) W,ﬁﬁm%waﬁﬁﬁ?ﬁ
3) W,aﬁﬁaﬁa‘raﬁﬁ@aﬁaﬁeﬁ%

(4) s, aﬁﬁﬂﬁmm%

P-II/N
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33.

Vg

34.

While teaching ‘shapes’, a teacher can

plan a trip to historical places, as—

A. it needs to provide leisure time as

most of the syllabus has been

completed in time

it would be an opportunity to

improve communication skill

shapes are an integral part of every

architecture and such trips

encourage connections across

disciplines

D. field trips are recommended by
Education Board, so must be
organized

Select the correct answer using the

code given below.

(1) A, Cand D

(2) A and B

3) C

(4) Band C

A student was asked to calculate the
surface area of a cube.

He calculated the volume.

The reason(s) of error in calculation |

is/are—
A. the student finds the class
boring as he does not like

mathematics class

B. the student is not fit to study in |

that class
C. the student 1is. not able to

understand the concept of surface
area and volume

D. the student has understood the ‘!

concept of surface area and volume
Select the correct answer using the
code given below.
(1) Aand B
12 C
(3) Band C
(4) D.

34.

echoﬂNoHdIn

TN W, o e Yt
Eﬁamaﬁzﬁarnamm% Fifp— e

A. mwmwzﬁm%
%ﬁ% W WIS W W g R

B. ¥ TR Tl § GUR 0 SER g

C. TR T AgHe F TF Al e §
A 7@ @ K AP et § gy w
m%awﬁ%

D. fuan o€ 3w feg Ry H ReRw H
STt 8, 3EfIT HE A eEvE R
AT =Ry

H= i g 2 1 W R w3 gRg
(1) A, C3RD

(2) AR B

3) C

(4) B3R C

T B I TF O g 1 &% e
o e T M)

I e e
o & R 1/ FRO B/E—

A. OE S H IS I T, mﬁﬁaﬂnﬁa
) e TETE TE B

B. B 3 F&l § FEE FA & T I9GH

Q. BT A8 1 &%hd IR A 6 AT

AR A EE TR

- D. BT HAdg 1 &A% R AT Hl RO

! THF T ®

"’ﬁﬁumwmwﬂmw:ﬁtgﬁm
(1) ARB

(2 C
(3) BaRC
(4) D

P-II/N
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35. In a meeting, 2—45- of the members were

7

female. What percent of the members
was this?

(1) 4%
(2) 40%
(3) 24%

(4) 16%

~ 36. A shop reduced its prices by 10%.

>

37.

What is the new price of an item which
was previously sold for & 5007

(1) ¥400
(2) ¥510
(3) ¥550

(4) T450

TechoﬂNoHdIn

Given below is a data set of
temperatures (in °C) :

6, -8, -2, 3,2,0,5,4, 8
What is the range of the data?

O
W 100c b wetT NN

At “n
e [g W\\-mm‘-"
(2) 0°C "
g ?) -6
(3) 16 °C/ ‘
(4) 18°C

35.

36. Th

37.

m%ﬁﬁ,m@ﬁﬁﬁ%qﬁaﬂi?ﬁi%
et & foma wfdsra 417
(1) 4%
(2) 40%
(3) 24%
(4) 16%
Y syt Fmdl F 10% i FH H| T

Hﬂ#ﬁﬂﬂw% W 7gat & 500 H =R
STt oft?

(1) ¥400

@) ¥510

(3) €550

(4) €450

‘-ﬂ%amrmcciﬁ)wqaﬁéaﬁzﬁmw%{
-6, -8,-2,3,2,0,5,4, 8
21 T IRER 1 /7

i(1)--10.°C

(2) 0°C
(3) 16 °C

(4) | 18 °C

SPACE FOR ROUGH WORK / T% %™ % R wg



38. A coin is tossed 10 times and the 38. T f& 10 WX ol ?ﬂ?ﬂ 3 3R wfomg 7=
outcomes are observed as : TR SFa@lihd 3 s
H, T,H T, T, H H T, H H H, T, H, T, T, H, H, T, H, H
(H is Head; T is Tail) (H R Twd)
What is the probability of getting Head? Rrd 9TH S H GurET = E?
1 ‘ '
1)-— : 1
/ : 6" s
4 9 o S
N (2) 5 A% 3
(2 =
4 5
3) =.
; @ 2
5 -
O > b
2
39. The numerical expression 77—+ 3 56
shows that— | 39, wees s o + 07 = 25 frara & f—
(1) rational numbers are closed under 7 8 56
. dl:SlO; i i (1) it geamd R ¥ siwta g9a A
rational numbers are closed under v e ot
addition v~ (2) E.I : .[?:ﬁT[ * W?ﬁﬁ g
(3) rational numbers are closed under  (3) Uit HEE Fawer % I ga Bt B
«/* subtraction ‘ (4) ufir de@d oF % At g9a e
(4) rational numbers are closed under
multiplication 40. ﬁ‘-‘—lﬁfﬁ'ﬁ 3D aq@ﬁm‘i T ¥ e W =i
| , : g1 87
40. Which one of the following 3D shapes '
does not have a vertex? (1) e
\ (1) Sphere (2) fofie
\/ (2) Pyramid ' 5 (3) Trw
(3) Prism ' ) 4 I
(4) Cone _ s ; |
: -3 5x-2
5\4 /5\3 [5)\5%2 _ 41.2(1%(5 sc[ 2} =f2 '@l?ﬁx%—'
41. If(?) X (-7—) =(7) , then x is— _ 7 \7 (AW
A | risig e 1 "
: 4 1 (1) = (2) =
(1) = 2) = Eak
L\/‘ 5 (2) 5. S | 5
2 3 2 3
3) = = o) P 4) 2
®) 2 @ 2 ® 3 @ 2
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42. Let a, b, c be three rational numbers,
where a=§ b=—§— and c=‘%5-. Which

one of the following is true?
(1) a-(b-c)=c—(a-b)
\ (2) ax(b+c)=bx(a+c)
\/ (3) a+(b+c)=b+(a+c)
(b

(4) a+ +c)—c+(a+b)

43. A geometric representation, showing
the relationship between a whole and
its part, is—

(1) pictograph

y (2) histogram

(3‘) pie chart
(4) bar graph

44. If g is the square. of a natural

number p, then p is—
(1) greater than q
(2) the square of g

/ (3) the square root of q

(4) equal to g

45. The value of y91+70 ++121 is—

(1) 12 2 9 Efﬂrhw
] .

(3) 10 C@ileql ¢
-:qf+7~i’°

46. In a park, 784 plants are arranged so |

that number of plants in a row is same
as the number of rows. The number of

plants in each row is—
(1) 48 (2) 18
(3) 28 (4) 38

42.

43.

44

aite % a, b, c & wiag @@ %, @l
a_fsi b—§3ﬁTc————%lﬁﬂﬁ’fﬁ§ﬁﬁ“@t
HHE-G1 T 87

(1) a=(b-c)=c—-(a-Db)

(2) ax(b+c)=bx(a+c)

(3) a+(b+c)=b+(a+c)

(4) a+(b+c)=c+(a+Db)

st freww, st @ iR sEw o %
gay @ &, 3—

(1) Fera
(2) Redum
(3) % =
(4) v ATE

. AR g T TR G pF R, W p R—

(1) gu =

45.

46.

(2) g =
(3) g =igA

(4) g% R

Vo1+70 V121 T A A—
1 12 (2) 9
(3) 10 4) 11

T Uk #, 784 1 wafem fh w1 ¥ @ifs
qﬁsﬁ*ﬂ%ﬁﬁm it Y e % guE @

EIPLERNE e B G
(1) 48 (2) 18

@28 @ a8




47. If two quantities x and y vary inversely
with each other, then which one of the

following is true?

(1)' Difference of their corresponding
values remains constant.

(2) Ratio of their corresponding values
remains constant.

(3) Product of their corresponding
f values remains constant. »~

(4) Summation of their corresponding
values remains constant.

48. Given

Ty
X6
yyy

Jj \/ Then the value of y is—

| (1) 2 (2) 8

( (3) 6 (4) 4

TeChoﬂNoHdln

49. To fill a rectangular tank of area
700 m?2, 140 m? of water is required.

@ |
(2) I Feft "E F ogE T T
@ B
(3) S TalK AR ® TR e
T Bl
(4) 37 W@ AEt w1 AW THEEAE
@l B
48. femr
Ty
x6
yyy
T y 1 AE —
(1) 2 @ 8
(3) 6 (4) 4

49. 700 m? &Fe F T JAEAFR 3F F T
T 140 m3 qmaﬁtanawm%|i$ﬁw

What will be the height of the water %wﬁmﬁwa‘wﬁ?
level in the tank?_
)O viap (1) 40 cm
, em
N - Le kb Nt
(2) 10 cm 1Yo = Joo (2) 10 cm
(3) 20 cm?” 8] 20 e
(4$ 30,0 (4) 30 cm

SPACE FOR ROUGH WORK / T% &M % foiq we

P-II/N
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50. Which one of the following is the most

suitable strategy to teach the skill of

addition of money?
(1) Doing lots of problems
(2) Use of ICT :
(3) Role play
(4) Use of models
S1. After teaching the concept of multipli-
cation to her class, a teacher asked her

children to multiply 48 by 4.

One of her students solved it orally

as “To multiply 48 by 4, we first

add 48 tc 48, which makes 96 and
then add another 96 to reach 192. So,
the answer is 1927 ~ :

What can you say about his/her

strategy of multiplication? '

<(1) He/She understood multiplication
as repeated addition.

(2) The child used a wrong method to
multiply. He/She has to use the
place value algorithm to multiply
the numbers.

(3) He/She has not understood the
concept of multiplication. -

(4) The given problem is a multipli-
cation problem and not addition
problem.

2%

52. Which one of the following should
be taken up as initial activity in
introducing the concept of ‘time’ to
young learners?

(1) Conversion of time in different

’ units
N (2) Discussing about the prior
experiences with phrases related
to time
(3) Teaching children how to read time
in clock v~

(4) Teaching children how to calculate
elapsed time - fi '

52.

(1) ¥gd | g /SRA B FLA
(2) g0 Ho aom:ﬂ?ﬂﬂ

(3) I =

(4) el 1

51. HEA Hel F O H FAURM B GGH F 3y

o e Y o A=l @ 48 F 4 W Ny
=l %l | 4

IF oE A A A AREE WA
o, ‘48 # 4 9 TN HA % T H T8 48
¥ 48 Sea &, @ 96 a1 ¥ R fi
96 3R SiIed &, 1 192 ¥9dT 81 39 UHR I[N

19271

TN h IR WA F IR F AW R ww
Tk &7

(1) 383 o0 1 SR-SR 401 % w9 F wwg ¥

(2) = I M FA & o o By w5 sw@m

FT wemet W opn WY ¥ B W)
T A TeMREH 1 SYET T 1R |

(3) 8 o i s@uRoT ane F T s 2
(4) & 7K wHR T TN wEen € ek A9 R
Wﬂtﬁ-%l -

aﬁﬁ‘@’ﬁmmﬁmﬁam%
%Qmes‘wfﬁﬁfb%mﬁﬁw%iﬁ@mﬁ@
HH-H A S iR |

(1) ﬁf‘\ﬁmﬁﬁ T T ST amn o

(2) T X Geif AT & e
' Hﬁﬁaﬂfm ﬁjﬂ!ﬁmg‘aaﬁ»a;

SPACE FOR ROUGH WORK / T %™ % R =g



53. Which one of the following is not the
purpose of assessment?
A. Monitoring student’s growth
B.

C.

Making instructional decision

the of

Evaluating effectiveness

curriculum

Ranking the children based on
performance

Select the correct answer using the
code given below.

1) C

() A

(3) D

" "Techofworld.|

Which one of the following methods is
most suitable for teaching mathematics
at upper primary level?

D.

54.

(1) Problem-solving method =~
(2) Demonstration method

(3) Lecture method

44) Activity-based learning

55. Which one of the following is most
essential in learning mathematics at

upper primary level?

(1) Copying correctly what teacher

\, rites on the board :
(2) Solving a problem many times
(3) Exploring different ways of solving

a problem"

(4) Memorizing all formulas

53. Frefafaa # & 2-u1 geai #1 22v i 27
A. 31 % fawm A e =
B. i fofa o
C. WIEIFH il U H geaiE H
D. ¥&IR % =nun W =5 i Fw wen
ﬁmm%mmmewl
(1) C
(2) A
(3) D
(4) B
Nsa. v et e v o vt 35 o P
7§ - ol vad atfves 397w 77
(1) wwen-wmye fafy
(2) e fafy
(@) =rem fify
(4) wicferty-smeia stftrm
55. 3 Wufw W W TR@ ofrm B R
Ffafad & ¥ S9-T wsl aifts e 27

(1) Toes 9 W S frem 2, SEw AR A
TRl B

(2) T THET I HE OR TS FE

(3) Frelt e = w ¥ R wiw 9
SR ST

(4) W T B T =

- SPACE FOR ROUGH WORK / T% %W % ffu e
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56. <o e TR W A A BAT H IT g

56. The strategy of questioning used in the o
mathematics class at upper primary WWE‘% Sell
level—
) 7% AR 91 THF T H
(1) helps children to express their (1) % 7 Q G T 7eg w3 L
~ thoughts or understanding and
think critically
| (2) @ gdcaTied HE AR M TE I gy
(2) should be discouraged as it £, =) e @t 3 S IR A T TEAd }

v demoralizes the child who is unable
K/ to answer .
(3) e ) e Fd ¢ FMH T 7gq
1T 97 T

(3) mz_tkes the classroom noisy as the
children would be talking too much
(4) could create stress among children (4) =t & T Z%T gam Lk %%Q
and may lead them to accept the , g :ﬂ'rﬂ
teacher’s authority S 8 ‘

TechoﬂNoHdIn

57. A teacher has taught measurement of ‘ :

area to class VIII children, but many of | 57. w& g = &&1 VIII % =1 % &IHa ATH

her students are confused between the  Rramn R, AR 3T 3 O A% SR STF
R fiftw TeEEt % swEm % e I # €

usage of different units of area and
volume. What could be the reason for =1 39 T8 % Y5 B HRU 1 8 Gehdl &7

such a confusion in children?

(1) The concept of measurement of (1) =&n VIII % Tignefi & foTe dawe g
area is a- difficult topic for a STAYRON T Hhic fawg g1

class VIII learner.
(@ W= W %ﬂw # sams!ﬁ E3) wﬂn =r€f

(2) The children did not know the use

/ ‘of units for area. i ST &)
(3) The children have not memorized (@) == elﬁlﬁl-‘alx ' W‘ﬁ : aﬁﬂﬁqﬁﬁo‘m %‘I e
different units. : a1t : , ~\~_'-:¥

(4)amwmﬁaﬁm%ﬁmsﬂaq%
wi‘uaﬁmﬁmwﬂa%@mm

/ ) " i)
- (4) Different units -~ have been
™ R

introduced all together without:
relating them with their daily life.




58. Which one of the following can be the

most appropriate aim of encouraging
mathematical communication in

classroom?

(1) Children should be able to recite
theorems and formulas in
mathematics class

(2) Children should be able to use a
precise language while talking
about mathematical statements

A and using them ~~
‘-/9( (3) Children who have fear about

\

mathematics should be able to
interact in the class

(4) To organize debates in the class
regarding topics of mathematics

59. The purpose of a diagnostic test in

mathematics is—

(1) to plan the quéstion papér for the
end term examination

V (21) to know the gaps in children’s

understanding
(3) to give feedback to the parents

(4) to fill the progress report

60. Remedial teaching is helpful for—

(1) removing learning difficulties of

V weak students

(2) teaching the whole class
(3) recapitulating the lesson -

(4) teaching in play-way method

58. el H T Arafery F Wewitva = F 7y
I g Tt 3 | R-m @ w27

(1) == ® i 1 Fa1 F v o g %
I | FETH B =TT

(2) g fEmn F AR § 9@ W@ g edn
IR IGET KA GHF T B TH GH
YT 1 SYAFT A H FHH 1 9106T

(3) TR ¥ TW T T B HA A A A
T F9 (Fa:fa) § g™ 2 T

(4) e ¥ T ¥ R §F w@w A wwE
ARG FET

Techofworld.In

59. TR & Yerfer ThEU F1 T 2 —

(1) sifm smfy A whan 5 foC ww=1-w1 H
AISHT STET

(2) ==t g & AR S
(3) wren-Ran = wRifEn 3
(4) STl RYTE W

60. ITIHF R0 TEH 2—

(1) FR BET A e it wfeTRE B g
A % fig

(2) T Fa F g F R
(3) e H TR % g
4) @a-qﬁﬁ—mmﬁm%m

& A .



61. Which one of the following is mnot a

A

quality of scientific attitude?
(1) Hard work«"

(2) Open-mindedness

(3) Curiosity to learn more

(4) Objectivity in approach to problems

Techofworld.In

62. Hari wants to teach the circular motion

to class VI students. Which one of the
following will be the best method?

& 1) Demonstration
(2) Discussion

(3) Activity-based teaching

(4) Giving examples

63. Which one of the following is an

important aim of learning science?

(1) To help the fellow colleagues in
getting knowledge of science '

(2)/ To get knowledge of science

(3) To collect the information of

science contents

(4) To imbibe the values of honesty,
1ntegr1ty and cooperat1on among

learners

61.

62.

63.

P # @ -an AaEE R
i #7

(1) i ®r

(2) e 7

(3) ftrek HrEa i Iegehar

(4) wenet % Wi EER § agied

e wmen VI % gl @ gule wfa ger
Iredl 31 Frefiied 4 @ F9-91 g59 =3t
faen @vfi? :
(1) we3H

(2) ==

(3 v&rﬁiﬁ—mmﬁﬁ e

(4)3‘::'13@_1%:11
frafafas § & S-a1 fgm oftrm w1

ﬂ%wfs%w%?

(1) 9 weahal = Ram = 39 i 50
< B HEE

2) ﬁsrrﬁrmﬁnax&hm |
3 ﬁﬁmﬁﬁWEﬁW»@ﬁaﬁ

(4) SreFFaiet ﬁ énr—mﬁ e



64. The continuous and comprehensive
. evaluation in science means—

\\/ (2)

6S5.

66.

(1) evaluation of all aspects of science

summative and formative
assessment

3) more frequent test -  and
examination

@)

routine activities and exercises to
assess learning

Which one of the following is not a step
of problem-solving approach?

(1) Observation™

g ,
(2) Visualizing the situation
(3) Attempt to solve

(4) Drawing conclusion

TechoﬂNoHdI

Which one of the following is a step of
analogy strategy 'in science? -

(1) Application
(2) Map ?similarities-*/
(3) Presentation of abstraction

/
(4) Interlinking concepts -

64.

. 65.

o= %

1§ Had g =i
aﬁ%_m TS AU HeATFA

(1) Fom % wf veqgeht = weaie

(2) 2" @ AT geaiw
(3) At eyradi wifer @ wliem

(4) T % e ¥ WA TdtaiEl ok
A

e & & - e B
Teh =] 7T B 7

I ERIET

(2) Teufa it wegn w0

~(3) HHIYM 1 WA S

n

66

(4) Fewd fFerert

ﬁﬂ%@aﬁ@aﬂquﬁaﬂﬁwﬁ&

wwﬁw%?

(1) S
(2) - FEHarstt = fEm

(@) i g

P-II/N

(4) smuTonST B - A SE

SPACE FOR ROUGH WORK / T% %M % g e
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67. Far 3 ai s 9T wEd o w9 E—

snakes found in the

t
or fféﬁdIZ?ff-s (1) SRR T
(1) reticulated pythons v~ (2) 91N
(2) vipers (3) TAThIET
(3) anacondas (4) q3T ;
(4) boas | P S
68. Yoga is done by the people in the world 1) gﬁﬁﬁ T
because— .
(1) it brings happiness (2) I8 T M AAH &
( (2) it is a simple exercise (3) 78 Al <l T T §
‘t3) it keeps people healthy (4) 7= ‘EW% ‘
" (4) it increases hunger : 60, Do 1 AT ¥ gr e
69. Tbe vaccine for smallpox was (1) IR T
(1) Klompades Femi R R R
_ @ _ ming @) T E
7\ (2) Ronald Ross
(3) Robert Koch (4) ww
(4) Edward Jenner | 70. fififen § @ fram Sw T TReEE =
70. Which one of the following is used as 5 fon s &7
preservative? (1) Hifemm FnEe
(1) Sodium chloride - (2) IR Gehe
7( (2) Copper sulphate | (3) Hifezm sSsige
(3) Sodium benzoate v~ = ' ; (4) M g%

4) Ammoni Iph
ith- Ammiogium suiphate 71.tﬂwaﬂaﬂvﬂn__éa3—cq|a={ﬁ%mam%|

71. Yeast is used for the production of—— (1) R T
(1) common salt o 1 iy
& (2) alcohol * - @) TR
(3) curd (3) =&
’ (4) sugar ' ' (4) < ‘
72. Mitochondria : ATP :: Ribosome : ? - 72, Wﬁaﬁ@m To o tﬁo 2 R : 7
(1) Vitamin , (1) Fefm
@ (2) Carbohydrate . - (2) Eﬂ'&ﬁmg;}@
(4)- Protein » ' (4) IR

SPACE FOR ROUGH WORK / 1% % % o s
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73. If the frequency of a simple pendulum
is 2 Hz, how many oscillations will it

complete in 16 secor}ds?
(1) 64 (2) 8
(3) 16 (4) 32V

| 74. Which one of the following metals
| burns if kept in air?

IV (1) Aluminium

| q2) Sodium

(3) Magnesium
(4) Zinc

75. Magnesium hydrox1de [Mg(OH),] is
\\/rsed as—

' (1) fermentation agent
(2) oxidizing agent

(8) reducing agent

([(4) anti-acid

76. Which one of the following gases burns
with pop sound?
(1) Sulphur dioxide
' (2) Oxygen
(3) Hydrogen*~"
(4) Nitrogen dioxide

_\il\7/)fﬁxch of the following is/are example(s)
o

f non-contact force?
(1) Muscular force
“(2) Gravitation force
(3) Magnetic force
(4) Both (1) and (2)

78. Dialsetes is
t_Aormone.
(1) thymosin
(2) thyroxine
(3) adrenaline
“(4) insulin

controlled by

73.

74.

75.

76.

Techofworld.In

Ife T e Al H AP 2 @ B/, 9 T8
16 Tz ¥ foras qrem QU Hem?

(1) 64 2) 8
(3) 16 (4) 32

fPrefefiaa § A #=-H o 9 3 @ | T
Iadt 37

(1) egfhfem

(2) @femm

(3) Afifiem

(4) Sre (1)

Ifftem TEgETEs Mg (OH),] F1 3T
% &9 1 fora W B

(1) fepvaa w1

(2) ATdiehh

(3) U=l HRH

(4) wfu-sm=

FrafoRea 4 @ F9-t @ 90 R @l F Ty

 Sierd /7

77.

(1) TR SEATZS

(2) ATFdSH

(3) ETEZIH

(4) TTESH SRATETES

freffea & 2 FH-A1/R T 9 F/F
IR /87

(1) o=fm =

 (2) e

‘78.
(1) urERE

(3) I o
4) (1) 3R (2) S

wYAE A TR i T P B &7
(2) IRITRA

- (3) TR

(4) sgfm
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79. Fefafg & 4 $R-w RfEm w1 9

79. Which one of the following is not a

product of petroleum? TE 87
(1) Bitumen (1) T
V(Q) Kerosene (2) P =1 3@
- (38) CNG (3) Hto TWo o
(4) Paraffin wax (4) tfer 7w
80. Red Data Book contains a record of— | éo_ WA gH ____ & Feld @l 2
(1) fauna (1) wgert
(2) endangered species ¥~ (2) HHeaH FaEr
(3) extinct species . (3) Tergw wemferat
(4) flora - (4) FTEafa
81. Why are the soles of the shoes treaded? | o T % et ora w1 g R 7
' (1) To increase life of the shoes (1) S %1 <o w2l 3 Rig
@ (?) To give the shoes -mOf'é pfOteCtion 2) s@ 1 3R et 3 % o
(3) To decrease friction (3) feca HeM % g
(4) To increase friction” (4) 9z TG ¥ Forg

82. Sarika took distilled water in a bottle 82. SN TR T g & R 3R T@

e e e What Is she ikely to T 1 1 4 7 g g
A\ find? - 1| | 30 7 T8 R ) T 37
@ (1) It is poor conductor of electricity./ (1) ¥ forpq +1 F9eiR =i R
(2) It is good conductor of electricity. (2) =8 for@ = W%l
(3) It is an insulétor. (3) |’W’TH ﬁg@gﬁ |
(4) S # Q-

' (4) None of the above

RS -




83. Which one of the following statements
is not correct?

(1) If the proper fuse is inserted in a
circuit, it will blow off if the current
is more than the safe limit.

(2) There is a minimum limit of current
which can safely flow in the electric
circuit.

(3) There is a maximum limit of
current which can safely flow in the
electric circuit.

(4) Fuses are inserted in electric
circuits of all the buildings.

84. Which one of the following places is
most likely to be affected by a cyclone?

(1) Goa
/(2) Porbandar
(3) Puri

(4) Mumbai

85. The change in seasons on the earth
occurs because— :

(1) the axis of rotation of the earth is
" parallel to the plane of its orbit

(2) the axis of rotation of the earth

is perpendicular to the plane of
its orbit

(3) the axis of rotation of the earth is
‘ tilted VVlth respect to the plane of
its orbit ¢

(4)' the distance between the earth and
the sun is not constant

83. F=faftaa & & +\5-w1 =97 weg =t 27

(1) 3R 9fos § e wE e W, @
Titra dm | atfvss fagg a0 W a7
3g S|

(2) frefi forggq wfma & gifem warfeq 2 %
feru, fererq wm R =gAam € )

(3) fordt ferpa ufmag & gifda yarfed @ %
o feregq, amq Y erfream € R

(4) @ wet % g oftwdl @ wF TC
oA

84. Trfifad § & fFe w6 whad ¥ TR
arfersp e B Y e 7

(1) T
(2) deR
(3) T
(4) g

Techofworld.In

85. geft W gt F&wd! 8, i —

(1) Tt % g @ TR FE h T S
G

(2) et w1 R WG A KA F q@ h
Wﬁ%

&) E%ﬁww anﬁwﬁmm%aa%mﬁa
sﬁmgan%

mmwm@%mﬁwmmﬁ

SPACE FOR ROUGH WORK / T &M & fiu e
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z—B R R .
86. There are two columns, Column—A 86. T W, WH—A 3

o g
and Column—B : wra—A B !
Column—A Column—B @ gt (i) W'i’fm:iﬂ wgEl ¥
(a) Canopy (i) Dead plant and -
animal tissues o) (i) T ST Sg
(b) Decomposers (i) A wild animal o (i) gETE : \
(c) Humus (iii) Microorganism a Py i) a3 34 9 T ’ v
(d) Porcupine (iv) Branches of tall :
tree mﬁaﬁq—mﬁqﬂq T —A &
Which one of the following is the ¥ WRW‘T——BWWWW?

X correct sequence of Column—B for the
given sequence of Column—A? _

(1) @v), @), @, 6@

(1) Gv), (), @, )
(2) (), @), (), @)
(2) @), @), @), @v) , . &

(3) (), (iii), (i), (iv) (3) @), (i), (), (iv)

@) (), (v), @), @) (4) (i), (v), (i), @)

TechoﬂNoHdIh

87. Why is formative assessment important | 87. %El‘l?f ﬁ TEF{TFH‘?‘» W el Tlgﬁ"{lf %?
in science? , e :

\>< (1) It helps in better understanding of () ;? ol aﬁ i SIEFR'& W | RHRE] :
science. . (J ‘/‘
(2) It is easy to conduct. | (2) & T T 3
(3) It helps in developing sc1ent1ﬁc (3) T® faffa F aﬂfﬁ% gﬁaﬁm 1%%'[3
temper in students. . W%I ~ o IR * ‘ﬁ
(4) It is diagnostic.‘ : | @) q-gﬁm%l FETR o

SPACE FOR ROUGH WORK / T% %1 % fq wg —_—
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88. Why are science fairs organized in
schools?

(1) To evaluate students on the basis
of their performance

(2) To prepare students for higher
education in science

| \ (3) To help the students to score
| \/ higher in their examination

(4) To nurture creativity and

experimentation in science among
students

89. As a teacher, which one of the following :

do you find most appropriate for
scientific approach to teaching?

\ A1) Ask the students to
activities related to the concepts

(2) Clarify the students about the
concepts in the class

(3) Show the use of technology for

teaching concepts
(4) Give projects to the students
90. According to NCF-2005, “good science

education is true to life”
this mean?

~ “(1) Science should help in 11v1ng easy |
D(‘ life.

(2) Science should prepare the child to
the world of work. «~

(3) Science should be able to engage

the child meamngfully

{(4) Science should enable the child in

learning the processes of acquiring
scientific knowledge.

perform '

.. What does

88. foaeal § fagm ¥ = wdem w@ fEw
rar ®?

(1) T =1 % vl ¥ osmuwr w
e A & T

(2) TranfdEt = foqm o 5= fvan % R aw
FA % ferg

(3) Tranftiat =1 37 whem § =3 3t W
F T HEEd A 5 fog

(4) Frenf¥gt # fgm § oo @ W WA
gmal o faem w1 % fag

89. T g & I Frafeifaa 1 4 R s Rgw
H aqtes faen % foe w=d g wHe €7

(1) J@uRoMell ¥ weitm  WfaaiEl =
Toearfeiat | s

(2) Foaf¥El = Han ¥ auRmRl W wWs
T

(3) muRoMS % Migw ¥G THFAH F W
- feEm
- (4) Tl = feieETE 3

90. To Hio THo—2005 “I= fagm
gmsﬁm%uﬁmﬁfﬁ%”lmw g

(1) ﬁanammsﬂ?—rweﬁaw@ﬁmﬁn

(2) ToTm ses = w8 ¥ waw ¥
TR R o '

(&WW@&W@%WE@!‘#
B R T

(4) = T # At T aRia FA R
mﬁﬁm@ﬁwwl
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IMPORTANT Candidates have to do
Question Nos. 31 to 90 Either from Part—II
(Mathematics and Science) Or from Part—III
(Social Studies/Social Science).

W mﬁﬁﬁwgoSl’ggomﬂ
qr—I (T i fagm) W AWl (FET
S /AT ) | B 8

PART—III / \tmi—III
SOCIAL STUDIES/SOCIAL SCIENCE / |mIRTH awm/mﬁm IEEIC]

Directions : Answer the following questions

by selecting the correct/most appropriate

options.

31. When was the Constltutlon of India.

adopted?

(1) January 26, 1950
(2) August 15, 1947
(3) November 26, 1947
(4) November 26, 1949

32. Who among the following played a

decisive role in integrating the Princely
States of India?

(1) C. Rajagopalachari

(2) Jawaharlal Nehru

(3) Sardar Vallabhbhai Patel
(4) Dr. B. R. Ambedkar

33.

Constitution of India?

- (1) Local Government Bodies

(2) Union Government and State
Governments _ ’
(3) State Governments and Local ~,

Government Bodies
(4) Union Territories
Who ambng the following was the

~Chairman of the Drafting Committee in
the Constituent Assembly of India?

(1) Jawaharlal Nehru
(2) C. Rajagopalachari
(3) Dr. B. R. Ambedkar
(4) Dr. Rajendra Prasad

P-II/N

34.

Which of the following deal with the
matters in the Concurrent LlSt of the:

B« FrefRen T B 3w R ¥ R wh/ER
Sugw fawey g

WA 1 ST 5 ST TR oY

(1) 26 s9ad, 1950

(2) 15 3 R, 1947

31.

(3) 26 @M, 1947
(4) 26 7ER, 1949

i & ¥ B R 6 RaEal # i
w3 # Frots s R 7

(1) "o TsFIITETERY
(2) SETERAA TTE
~ (3) WR FguATE W
(4) <o o wmo TR
fas.ﬁmﬁ«rﬁgaﬁﬁaﬁmm%vﬁanﬁam
T % el § e e 37
(1')“mewﬂﬁm‘a
@ %amaﬂxwwﬁ |
@) T TR S T T e
(4 hwﬁaﬂ%m
34.ﬁm1‘aﬁ§aﬁa
- TR W sy o
(1) ST Yew
(2) o TR
(3) o o 3o amrga
(4) Bo Torz Yo |

32.

28

35.

i Wﬁqﬁm a9 ﬁ“"




35. In the 18th century, under whom did

Bengal gradually break away from the
Mughal control?

(1) Burhan-ul-Mulk
(2) Murshid Quli Khan
(3) Nadir Shah

(4) Alivardi Khan

36. Who among the following Governor-

Generals decided that Bahadur Shah
Zafar would be the last Mughal
emperor and after his death none of the

descendents would be recognized as a
ruler?

(1) Lord Cornwallis
(2) Lord Dalhousie
(3) William Bentinck

(4) Lord Canning

TechohNoHdI

Which Governor-General declared that
Awadh was being misgoverned and
British rule was needed to ensure
proper administration?

37.

(1) .Lord Mountbvatteh,
(2) Lord Ripon
(3) Lord Canning

(4) Lord Dalhousie

38. Which ruler of Kanpur called hlmself

‘Peshwa’?
~ (1) Bahadur Shah Zafar
(2) Nana Saheb

(3) Bajirao I

35. 18df wdl & forms R ame off-off
W%Wéwﬁ?a Kl

(1) IEH-IA-Heoh
(2) TR gt @m
() feearra
(4) Ffiadi @™
36. F=fafaa & ¥ g Tef-sma 3 Yaen fen
5 Tegame W aRal T wme d ek
T geg o A ToRell off Sve I % w9
ﬁqﬁ_mq{ﬁm?
(1) wE HHaeHE
'(2') ?ﬂéaaﬁsﬁ
(3) faferm sfe=
' (4j o A

MNa7. fra s 3 Hifva R B sma w T
o A e T S @ oA IR 3fed yeeH
gﬁ%ﬂm%mﬁ%ﬂwzﬁm
oft?
w w-s“tnazézq
ol (2 w:&fm
(3) WS Hfwm

(4) «E SREN

38%3(%%3%3[@3@&5@’%? _
(1) EEwIE FH
(2) T AR

(3) TSRS JeH

(4) Bajirao II

P-II/N
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39. The best methodology to teach the

40.

41.

42,

43.

P-II/N

theme ‘Factory’ would be—

(1) to screen a documentary film
(2) to narrate a story

(3) to invite a resource person

(4) to organize a visit to an industrial
plant

What is EDUSAT?
(1) A man-made Indian satellite

(2) The rocket that carries man-made
satellites to be placed in the orbit
around the sun

(3) A newly discovered planet in the

solar system -

An asteroid found between the

(4)
orbits of Mars and Jupiter

The verses and ideas of which one of

the following personalities have been
preserved in ‘Panchvani’ and ‘Bijak’?

(1) Ravidas

(2) Mirabai

(3) Kabir

(4) Guru Nanak

The mural painting from Ellora Caves
which shows Vishnu as Narasimha, the
man-lion, is a work of which period?

(1) Gupta period 7

(2) Gurjara-Pratihara period

(3) Rashtrakuta period -

(4) Chalukya period

Which/ one of the following organiza-
tions believes in Upanishads?

(1) Seva Samaj

(2) Brahma Samaj

(3) Ramakrishna Mission

(4) Satyashodhak Samaj

30

39.

40.

41.

Fra’ ¥ faw # wgn % o @ e

faftr grfi—

(1) T SrRpited oo farm

(2) T FHEH! A

(3) fre) fadrg =1 fmfa &

(4) et oheifies wr@m H aEn sEiE
FAT

tghz (EDUSAT) & 71 afima &7

(1) T AHa-ffifa vrdia 3T

(2) Fre forma 3w HrE- P sl = g
%) e F g O F g B s 2

(3) HRHeH & @i T T T TR

(4) TF gEUR W ATe SR geedla H Hesi
= g WA @

“Geamft iR ‘Hiee § Fefdiaa § 9@ fea

e T % ©e IR fewl @l wtfga T

™ 87 |

(1) ae™

(2) =g

(@) w

42.

43.

(4) TS

G T -, Rl Ry 9wt
Fiq Tev-fire % ww # Rearn w0 2, g w9
i Hfr 27 ’

(1) T8 P
2) TR-TRER FE

(3) T w1

(4) ST e

Pt % & A-w dmem efiwg # omen
@ 87 | ot

(1) fa1 T

- (2) S

(3) i ﬁm
(4) IMYSE 99
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44. Wind vane is used for measuring—
(1) air temperature
(2) wind velocity
(3) air pressure
(4) wind direction
45. Which one of the following layers of the

atmosphere helps in the transmission
of radio waves?

(1) Exosphere

(2) Stratosphere

(3) Mesosphere

(4) .Thermosphere

Identify the various layers of the earth

in order from interior to the outermost
layer :

46.

(1) Inner core, outer core, ’mantle, :

crust

(2) Crust, mantle, outer core, inner
core

(3) Mantle, crust, outer core, inner

core. -

(4) Inner core,
mantle

P-II/N

7

outer cCore, crust, !
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fmlac%-ri;!zg%aqumwmﬁ%mm

ST &7
(1) 9 A
(2) g
(3) g &=
(4) =g famm
45. aves B Frefafed #§ @ FA-A w@ WD
Tl % g= & weE w77
(1) sfeded
(2) THATIHSA
(3) weEHSdA
4) ara i

46, v B Tt Tt @) A A iR A R
T q% TEEIT <

(1) i we, T e, few, T
(2) W, Hew, wTEd e, A FE
@) fow, 68, T 7S, S A

(@) s Az, e e, W, Few

#[ P20,



47. Observe carefully the lo?'ation of .the
sun, earth and moon In t.he given
diagram and tell what it depicts :

O Moon
i

(=)-6

(1) Neap tide

(2) Solar eclipse
(3) Lunar eclipse
(4) Spring tide
48. When the river enters the plain, it

bends and flows forming large bends
known as—

(1) oxbow lake
(2) levee
(3) floodplain

(4) meander

Techofworld.In

49. Which means of transport is extremely
useful in most inaccessible areas and
in time of calamities for rescuing
people and distributing food, water,
clothes and medicines?

(1) Waterways
(2) AirWays

(3) Railways

(4) Roadways

P-II/N S %

47. :qgﬁ;%ﬁmwm%

O

ﬁ
.@

(1) o SaR-4
(2) gd-7e
(3) F5-TEW
(4) F8q SR
48. @ 7@ Hem § VW w2, @ 9E g3 I D
(1) “Toghe
(2) Wy
(3) g %1 B
@ P

foafa =3 % r
b ﬁ?‘!mmﬁqmmﬂqé@a

(1) Sremm
(2) =i
(3) Yemmi
(4) wsFam
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50. The branch of geography which deals
with comp031t10n of a particular human
population is called—

(1) human geography
(2) urban geography
(3) biogeography
(4) demography

51. Assertion (A) :
The sun sets in Gujarat about two
hours after Arunachal Pradesh.
Reason (R) :
Arunachal Pradesh is on a higher
latitude than Gujarat.

Select the correct option from the given
alternatives.

(1)
(2)

(A) is false and (R) is true

Both (A) and (R) are true, and (R)
explains (A)

(3)

.does not explain (A)

(4) (A) is true and (R) is false

52. Which one of the following is a non-
conventional source of energy?

(1) Coal

(2) Firewood |
(3) Natural gas
(4) Solar energy

53. The breedmg o
constructed tanks
known as—

and ponds

(1) pisciculture
(2) sericulture

(3) viticulture

Both (A) and (R) are true, but (R) .

hqfwo cld.dm

is |

(4) horticulture

P-II/N
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50.

51.

it A 7 T, < e wee sEen A
o= % fomg @ wefa ¥, weed 2—

(1) =& e
(2) TR
(3) @ i
(4) SFEifETd

FfeA (A) :

@Wﬁwmﬁwﬁdﬁ
e & Bl 8

R (R) :

ST TR, T S ger § I AW
w @@ B

mmﬁm%wﬁmﬂwﬁml
(1) (A)mﬂ%sﬁt(R)m%

mmwwﬁwammm@
mm%

(3) (A) 3R (R) 3 T &, 9fF (R) (A)a?t
Y R Al

@) (A) ¥ & ¥ (R) I d
52, Prfifad # ¥ W S KRR
i 27 |
(1) Rt
(2) 3
(@) S
(4) ¥R ==

sa. fui w1 & Ff 3 o et § wodh =
TS R 8—

[ P.T.0..



54. A narrow strip of land joining two

55.

56.

57.

landmasses is known as—
(1) bay

(2) strait

(3) isthmus

(4) island

echoﬂNoHdIn

Which one of the following continents
is smallest in size?

(1) Europe
(2) Australia

(3) South America

(4) Africa

At the upper primary stage, Social

Science comprises of— ”

(1) History,  Geography, Political
Science, Sociology -

(2) History, Geography, V'Political
Science, Psychology

(3) History, Geography, Economics,
Sociology ' :

(4) History, Geography, | Political

Science, Economics -

Inductive learning is contradicfory to
which one of the following approaches?
(1) Mastery learningv |

(2) Expository teaching

(3) Structure training

(4) Simulation

55'

(4) E

ﬁnﬁlﬁaﬁﬁ@aﬁ?-wnﬁaﬂmﬁm
BT 87

(1)

(2) HAeferan

(3) 3 R

56.

(4) EHI

I Tafeh TR W TR g § wfa 32—

(1) 3w, Tﬁ?l,‘ TIf-Fm, T

57.
R iRy

(2) e, spiv, ToRhf -, TEREE
(3) e, s, st T
(4) Sfem, s, T- g, svefsre

ST S frefen 3 3 fr

(1) P st
(2) =TT e
@) F e

(@) g
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59.

60.

61.

62.

TechoﬂNoHdIn

58. Read the given statements A and B and

select the correct answer :

A. Critical thinking promotes
building of concepts,
and expansion of ideas.

the
application

B. It does not help in understanding

and evaluating arguments and
beliefs of others.

(1) Both A and B are true
(2) A is true and B is false

(3) A is false and B is true

(4) Both A and B are false

What is an empirical evidence?

(1) Data gathered using reliable
methods of data collection

(2) Data gathered in the real world
through the senses

(3) A numeric approach for research

(4) Data measured in metric units

The models/replicas of physical

features are most suitable for

teaching—

(1) Political Science -

(2) History

(3) Economics

(4) Geography

The collection of weather information

from the local newspaper is an example
of which type of source?

(1) Both primary and tertiary

(2) Primary

(3) Secondary

(4) Tertiary

In which type of classroom, the

students with learning disabilities
learn alongside other students?

(1) Modern
(2) Exclusive
(3) Special

(4) Inclusive

P-1II/N
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59.

60.

féu T wwt A @R B #) ufyy o wh T =
=39 Fif

A. IACEATHS W= awoned ¥ fmim A

Tﬁ%mWMﬁmﬁ
|

B. %8 g0 & @i iR favaml /) auen ek
oA U g e |

(1) A 3R B3I ¥a §

(2) AT R 3R B 3w &

(3) A R IR BEA R}

(4) A 3In B 3H! g &

IIIES W& H -7

(1) Afwhet & vur & Fvawia alsl =1 S5
R THET AR

(2) 3B % Mom @ IRafEE R 3 TR
Al

(3) IgEYH % foe ww TS g

(4) e Al | AW I Hihg

Wit fadiwaet & tr@a/:rﬁ@ﬁm et
e & T gt aifres 39g 21

(1) TsHif-fagm

(2) 3™

. (3) wdwE

61.

62.

@ e

WHE FHER-93 & AEH 6 IEHQ F e
58 TR =1 Gid 87

(1) Wl iR g A

(2) waRme :

(3) Taca=w

(4) T

W  sve A Rianef frw R B F
§ 31 oEl & @y ¥R 87 '
(1) sngfe

(2) =

(3) T

() wEe

¥R Le:
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63. Who has given the following theory? 63" . % war APER A T 8
“All children go through the Sami E}fgﬁ i =0 Al zafee fae 1 q:ﬁ Mz 3
sequence of development, but a v ¥ o 7 =feTd g1 A g

different rates. Therefore teacher must 5 fon e ) A = R

plan activities for individual children
and small groups, not just for the class

as a whole.” (1) Fto OIS
(1) J. Piaget ) o o ee!
(2) C. L. Ogden
(3) So T
(3) D. Purcell
(4) J. H. Bell (4) S el
64. In order to promote cooperative | 64. F § wewH fram F w@gET AW F foy T
learning in the classroom, a teacher &Wﬁm—
should— ' ' N %
(1) v & F0 ¥ foag % fafim @@
(1) provide them various sources to do - Yo Ft
the project : 7
(2) engage students in debate and : ‘(2) Waﬁmaﬁ(w@ﬁﬁ
discussions T 3) 3%' ReTa aRErsATE 3 |
(3) give them individual projects o , -
, Wi (4) ®m % fIg Ham A SR TgE F fovia
(4) divide the class in small groups for . : '
work G

65: A self-guided, self-disciplined thinking | ©5- ¥ 3“?”"5‘;'3“" 3"%""‘3‘@"‘“@“ R
which attempts to reason at the ST Tl & e ¥ I wR W o F
highest level of quality in a fair-minded F T AN R, Wy |

way is called— 1

(1) abstract thinking a _m W@E"

(2) critical thinking (2) SRS B
(3) complex thinking (3) ww d

(4) intelligent thinking (4) T B

66. The colours used in the Ajanta Caves | 66, X TH Rt 5 R %Q St i

Paintings have been derived from 0y ) .
which of the following materials? ’ S % T T T 7P

(1) Slate : _ (1) ®e

(2) Remains of animal organs (2 q‘ll I ¥ 9y
(3) Graphite ety (3) e

(4) Plants and 'mineralsﬂ S t4) Ghegt W@ﬁ'ﬁl

»P-II/ N | - 36
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67. The earliest manuscripts were written | 67. ¥a® gu yigfafaf o feredt 7 4t

on—

(1) wood (1) =Rel
(2) palm leaves (2) T8 wH
(3) stones (3) Ter
(4) paper (4) S

68. Which one of the following periods is | Co 10 o # Prafefas # @ PR omfy

longest in the human history? (F1er) e el 7
(1) Megalithic ' (1) HETTSTOT STt
(2) Palaeolithic (2) RSO et
(3) Mesolithic 1 ) s
(4) Neolithic  (4) TEE
69. Read the given statements A and B and 69. T T AT A 3R B ! gfeu R 98 W A
select the correct answer : ' =1 i
A. Mehrgarh is located in a fertile A, TEUR TR h died R %k TH T
plain near Bolan Pass of Pakistan. | 7S e R R

B. Evidences of farming and herding
are found here.

B. ¥ @l aﬁzw%m&#maﬁél

(1) Both A and B are:trué_. (1)A3ﬁ{B—‘ﬁ:ﬁW%

(2) A is true and B is false = 2 ATAR S BaEAR
(3) A is false and B is true . 3) ATEARIRBEET 40
4) Both A and B are false s (4) AR Bﬁ'vﬁ A & _

70. In which one of the félidwing States of 70, SRA % ﬁﬂﬁ’lﬁgﬁ"ﬁ?ﬁ LI BTl R o i
India, the largest number of Harappan | . ™ % TR o 9 e § P 8t
sites have been found? ' '

(1) S 3T HTHR

(1) Jammu and Kashmir . - By B e

(2) PgnJab 3

() Haryana o L

(4) Gujarat ’ ! B T AR,

| | 71, R w e @ PR 3 @ fR o A

71. Rig Veda’ was originally composed in. TR i 1)

which one of the following languages?

(1) Prakrit 5 UJ;W‘ i

(2) Brahmi () sEt

(3) Pali 3 ‘Tl'c‘ﬁ i

(4) Sanskrit gibis i e (4) &Aoo
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72. The

73.

74.

75.

first  ruler of Magadha
Mahajanapadas in the sixth century
BC was— '

(1) Ajatashatru

(2) Mahavira

(3) Prasenjit

(4) Bimbisara

Which one of the following is not
among the three jewels of Buddhism?
(1) Sangha

(2) Bﬁddha

(3) Dhamma

(4) Ahimsa

TechoﬂNoHdIn

Who among the following elects the
Rajya Sabha Members?

(1) Members of Legislative Assemblies

(MLAsS) -

(2) Voters in Assembly Constimencies

(3) Voters in Parliamentary Constitu-

encies

(4) Lok Sabha Members ¥

Which of the following systems of
government was adopted by India?

(1) Parliamentary and Federal
(2) Parliamentary and Unitary
(3) Presidential and Federal

4) Presidential and Unitary .

73.

74.

78S.

(3) =™

(4) @fewn
ﬁwﬁaﬁaﬁﬁ%aﬁqmmmy
w87

(1) faame & wew (feme)

: 2) ﬁmmﬁahq &1 % Haara

(3) oy fatem- «%sﬁ%waam
(4) T wEm

W S efaReg § aﬁ
ST T @%ammwm?ﬂ

(1) ey ok T

(3) Twufe 3fR gefrg
() Tt IR s

P-II/N 38
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76. How many Parliamentary Constitu- | 76. g st & fou Brem deda fPataa-2a

encies are reserved for the Scheduled rfda &7
Castes?

1) 74 (1) 74
2 4 (2) 48
2 g (3) 84
) 4 (4) 47

77. YA § SGEA YA F wRw Frefata 3§ F

77. Which one of the following Funda- fora oifere waftreR =1 3gam
# fora < 7
mental Rights is violated due to
practice of untouchability in India? (1) "aufre 9=t 1 AR
i (1) Right to Constitutional Remedies (2) FHHAT 1 ARHR
(2) Right to Equality (3) Al 1 AFR
(3) Right to Freedom '
(4) T % foreg, rfRrpR
4 (4) Right against Exploitation
- 78.%%@%%%“%'&%
78. As per the Constitution of India, which w-a1 Dfers AfteR =& 17
one of the following is mnot a Funda--
mental Right? (1) @ty = WFWR
(1) Right to Property 7 (2) Taem H ﬂﬁﬁ'ﬂ'{
(2) Right to Education R (3) Yw & foeg AAftaR

(3) Right against Explqitati,q»n @) R

(4) Right to Freedom of Rel.igioh‘ ) 7
ced 2L | 79. =g % YR W Yo+ Hehla

79. Untouchability refers ' to the FA R
discrimination on the basis of

(1) F
(1) race ‘ ™
i it (2) iR fareperiman
(2) physical disability
, (3) fom
(3) gender
| (4) fy
(4) caste
80. Who appoints the Chief Minister? 80. Wﬁq’sﬂﬁﬁm%?
(1) The Chief Justice of the High Court (1) 3= =mred % e A
(2) The President 2 (2) TEafa
(3) The Prime Minister 2y (3) wu™HE
(4) The Governor. @ 7 :l. | (4) TSI
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81. Who appoints the Governor?

82.

. 83.

84.

P-1I/N

(1) The President

(2) The Prime Minister

(3) The Chief Minister

(4) The Chief Justice of India

Who elects the Prime Minister?
(1) MPs and MLAs
(2) The Council of Ministers

(3) The Chief Ministers

Techofworld.

Who among the following is called the
first citizen of India? v

(4) MPs

(1) The Prime Minister

(2) The Chief Justice of India |

(3) ‘The Home Minister

(4) The President

Who among fhe following is called the
first citizen of a State in India? :
(1) The Chief Minister : |

(2) The Chief Justice of the High Court
(3) The Home Minister |

(4) The Governor

85. The current Lok Sabha (from 2014

onwards) is the—
(1) 16th
(2) 13th
(3) 14th

(4) 15th

27
i —are ) A Fgd P

82.

In

83.

(1) Tt
(2) Hm

(3) g@aﬂiﬁ

(4 o 5

(1) i AR e

2) nfai o giEg

(3) e

(4) @Eg

Areffaa 3  Fead) W 1 Gee T T
ST &7

(1) yyEEE

84.

~ 85,

40

PTG e e 7

(2) m%g@:w&ﬂm
(3) el

(4) Tgufa

Rt 'ﬁﬁﬁ»‘@ Wﬁfmamﬁéen
(1) gessh

(2) 3= =EeE ¥ ger =y

@) T R

(4) Ta9T@E

a?hm Fﬁmﬁm (2014% 1R) é_
(1) 164

@ 134

(3) 144
(4) 154




86.

87.

88.

89.

90.

Tec

Who is the current President of India?
(1) Ram Nath Kovind

(2) Narendra Modi

(38) Pratibha Patil

(4) M. Venkaiah Naidu.

Which of the following is not
mentioned in the Constitution of India?
(1) Rights of the citizens

(2) Names of the States and Union
Territories

(3) Structure of the Government

(4) Names of political parties

Who nominates Members to the Rajya
Sabha?

(1) The Chief Justice of the Supreme
Court

(2) The President

(3) The Vice President

(4) The Prime Minister

Who among the following was the

President of the Constituent Assembly
of India?

(1) Jawaharlél Nehru

(2) C. Rajagopalachari

(3) Dr. B. R. Ambedkar |

(4) Dr. Rajendra Prasad

Who among the following was the only
Indian Governor-General of India? .
(1) C. Rajagopalachari

(2) Dr. Sarvepalli Radhakrishnan

(3) B. Pattabhi Sitaramayya

(4) T. T. Krishhamachari |

86.

87.

88.

' 80.

90.
| TER-SE 917
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PART—IV 99
Language—I
ENGLISH
- t— . Nos,
IMPORTANT : Candidates should attempt questions from Palit vV (Q ok
91 to 120), if they have opted for ENGLISH as Language—I only.
Directions : Answer the following questions 95. During reading,. if a student is
(Q. Nos. 91 to 105) by selecting the piercing information together as they
. d a text keeping track of what is
correct/most appropriate options. Tead & PrE : 10
happening, he/she is—
91. Which one of the following does not (1) synthesizing
come under the principle of selecti ; ;
and gradation? P iR aatias (2) inferring
(1) Frequency (3) - skimming
(2) Accuracy (4) paraphrasing
(3) Availability '96. Which one of the following does not
(4) Coverage affect the intonation?
: ' 1) Loudness
92. fl‘he phenomenon, where a single word W SR .
is associated with two or several . (2)- Voice/Pronunciation
related meanings, is known as— (3) Tone v
(1) homonymy (4) Rhythm .
(2) homonyms . S cwE e ‘
(3) homograph 97. are involved in thinking.
(4) pblysemy ‘,(1). I_.mag_e, _language, concept,
' proposition Al ’
93. “The dog lived in the garden; but the (2) Image,  language, imagination
cat, who was smarter, lived inside the proposition e A )
house” is an example of— (3] - Tmage. ¥4 Csisdt
: » 1magination,
(1) compound sentence _ proposition o s C(?ncept, :
(2) simple sentence (4) Imacinati~ PR
e, (4) nagination, language, concept,
(3) complex compound sentence : Proposition .
(4) complex sentence [ o i \
- K , ; 98, 'Language ' | .
. At ST Where»tie.lleaboratory’ Is the place
94, If a student of language is cramming ‘ 7“headphbn‘e: ;T‘f‘ﬁn¢rs have to listen on !
his/her answers, then he/she would up With a. V,-iee lapguage labs are set |
not be able to— SaN activities in or::lN to provide listening
(1) attempt creative writing (1) liatans P tO/d-eve»lop_“ A
' : , enin A B
(2) attempt question answers & aCt1vme..s__‘: i
7y S j (2) analysis habit
(3) attempt vocabulary-based exercise g e T
o ' () speech habjt .
(4) attempt structural questions i inman YR
| v (4) criticizing hapit | -
P-II/N " ‘




99.

100.

101.

P-1I/N

Gra_mmar-translation method is
basically used to teach—

(1) classical language
(2)

grammar
(3) foreign language

(4) rules of any language usage

Which one of the following can be
used as a rubric for the assessment of
fluency and coherence of language?

(1) Demonstrates hesitation to find

words or use correct grammatical
structures

Can express with some flexibility

and appropriacy on variety of
topics -‘

simple conversation on a familiar
topic

Is always c_omprehensible, uses
‘appropriate intonation

Which one of the following is not the

Can initiate and logically develop

102.

103.

1]

. 104.

objective defined by NCF-2005 for |

teaching English at upper -primary
level? :

(1

To promote learners’ concep-
tualization of printed texts in
terms of heading, paragraph and
horizontal lines

(2)

goals and evaluate their own
progress; edit, revise, review their
own work
(3) To use dictionary suitéble' to their
needs e S

articulate
responses

To be able to
individual/personal "
effectively - odghy

(4)

To negotiate their own learning |
10S.

43

(3)

@

Techofworld.In

If you are listening to the description
of how to reach a specific location,
then you are doing—

(1)
(2)
3)

(@)

extensive listening
casual listening
focused listening

intensive listening

If a language teacher has put the
words ‘school, teacher, headmaster,
peon’ in a group, then she is
following—

(1) grammatical grouping

(2) lexical grouping

(3) semantic grouping

(4) phonetic grouping _

“At the initial stages of language
learning, may be one of the
languages for learning activities that
create the child’s awareness to the
world.” (NCF-2005)

(1)
(2)

Hindi
English
Vernacular language

(4) Second language

Little or no attention is given to
pronunciation in __ method.

(1)
(2)

SLT

audio-lingual
g.‘l‘ammar-tré_:»'islvativon: o
(4) CLT

[ PT.O.




TeCh OfWO rI d 'rr!ies equally low, Indian ﬁ“mg

Directions : Read the passage carefully
and answer the questions that follow
(Q. Nos. 106 to 114) by selecting the
correct/most appropriate options.

Born out of the forces of globalization, India’s
IT sector is undertaking some globalization
of its own. In search of new sources of rapid
growth, the country’s outsourcing giants are
aggressively expanding beyond their usual
stomping grounds into the developing world;
setting up programming centres, chasing new
clients and hiring local talent. Through
geographic diversification, Indian companies
hope to regain some momentum after the
recession. This shift is being driven by a
global economy in which the US is no longer
the undisputed engine of growth. India’s
IT powers rose to prominence largely on the
decisions made by American executives, who
were quick to capitalize on the cost savings to
be gained by outsourcing noncore operations,
such as systems programming and call
centres, to specialists overseas.

Revenues in India’s IT sector surged from $4
_ billion in 1998 to $59 billion last fiscal, but
with the recession NASSCOM forecasts that
the growth rate of India’s exports of IT and
other business services to the US and Europe
will drop to at most 7% in the current fiscal
year, down from 16% last year and 29% in
2007-08. :

Factors other than the crisis are driving
India’s IT firms into the emerging
world. Although the US still accounts for 60%
of the export revenue of India’s IT sector,
emerging markets are growing faster.
Tapping these more dynamic economies
won’t be easy, however. The goal of Indian IT
firms for-the past 30 years has been to woo
clients outside India and transfer as much
of the actual work as possible back home,
where lower wages for highly skilled
programmers allowed them to offer
significant cost savings. With costs in other

P-II/N

i anie <
Indian ncflf;s}?e emerging natiop,
tablishing major local operat'io'na

e nd he world, in the proce§s hirin
o dt of locals. Cultural conflicts arig,
thou:ia;ess while training DNew r?:ruits‘
?rt addition, IT firms also have to Work extry

) erging-market
usiness from em
hard to woo b ustomed to the concept

ccessful, the future of
or could prove ag

To adapt '
relatively unknown 1

companies still unacc
of outsourcing. If su
India’s outsourcing sect
bright as its past. |
106. What is the author trying to convey
. “In
through the phrase AL
is 1'm§1ertakk1g some globalization of
. its own”? .
(1) Indian IT firms are engaging
in expanding their presence
‘internationally.
India has usurped America’s
position as the leader in IT.
(3) The Indian IT sector is competing
‘with other emerging nations for
American business.-
The Indian IT  sector

considering outsourcing
‘developing economies.

2)

is
to

(4)

'107. Which of the following factors made

the services offered by the Indian IT

_attractive to the US?

A.. Indian IT companies had
expertise ‘in. rare core operations

B. The US' lacked the necessary
infrastructure and personnel to

handle mass call
operations

C. Inability

of  other

to.comply with their strict policies
Only C

None

Only,A " "~ .

Only A and B

(1)
)
Q)
(4)

44

dia’s IT sector

108

‘ 2  equally -
cost-efficient developing countries
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108. What .
at has caused Indian IT firms to | 111. Which of the following is/are not true

change the wa
. y they conduct in the context of the
business in developing countries? annil

. A. The recession severely impacted
(1) Stringent laws which are not the 'US but not India.

conduci i ia i
ucive to outsourcing B. India is trying to depend less on

(2) The volume of work being the US as a source of growth.

awarded cannot be handled by C. The future success of Indian IT
Indian firms firms depends on emerging
~markets.
(3) The demands of these markets
are different from those of India’s (1) Only B
traditional customers (2) Only B and C
(4) Wages demanded by local © (3) Only A
workers are far higher than what 4) Al A, Band C

they pay their Indian employees

112. Which one of the following words is

109. What do the NASSCOM stafistics most similar in meaning to the word
about Indian IT exports indicate? ‘chasing’ as used in the passage?
1) Pursuin
(1) The Indian IT sector should (_ ) £
undergo restructuring ~(2) Running
(2) Drop in demand for: IT services by (3) Harassing
Europe and the US 2 EE (4) Pestering

(3) Indian IT ﬁrins charge

exorbitantly for their services 113. Which one of the following words is

most opposite to the meaning of the
word ‘wundisputed’ as used in the

(4) India has lost . out to other
‘ ' passage?

emerging IT hubs
(1) Emphasized

110. According to the passage, which one @ Challenging
of the following is not a difficulty tr.xat ’ . (3) Doubtful
Indian IT firms will face in emerging S .
markets? : | | (4). Deprwed
(1) Co1:1ﬂ'icts arisingaldzlrlng the] 114. Other than crisis, what is \driving IT
training of localb paler 0. _ companies to seek other options?
(2) Mindset resistant to outsourcing . (1) Emerging markets

(2) The US makes more than 60% of

ices are | equally
(3) Local IT serycs o i’ : India’s export revenue

cost-effective o
' i (3) None of the above.
(4) The US is thewr preferred : .
outsourcing destination : (4) Both (1) and (2)

P-II/N ; R (P10
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117. The spealzl the following, excem\

Directions : Reaq the extract given observes
below and answer the questions t%‘at . coming in
follow (Q. Nos. 115 to 120) by selecting (1) ships
the correct/most appropriate options. 5 children playing
Break, Break, Break,

. inging
sallOI' boy s
On thy cold gray stones, O Sea ! 3) a

: er
And I would that my tongue could utter (4) a Jady in a tow

The thoughts that arise in me.

. ' Bre
O, well for the fisherman’s boy, 118. The speaker of “Breat e ;-
That he shouts with his s1ster at play! cannot—
O, well for the sailor lad, (1) hear
That he sings in his boat on the bay!
: (2) feel

And the stately ships go on
To their haven under the hill; (3) sce
But O for the ‘touch of a vanish’d hand,

(4) speak

And the sound of a voice that is still|

Break, Break, Break, | 119. In the first two lines of the poem, tt
At the foot of thy crags, O Sea! poet uses—

But the tender grgce of a day that is dead (1) metaphor
Will never come back to me.

(2) simile
115. What is ‘breakmg in ‘Break, Break, "
Break’? ' : (3) apostrophe
(1) The sunshine through the clouds @)
asson
(2) The sea deras
(3) Poet’s heart ,
(4) The wind | 120. The phrage haven under the hilrise
, | €Xample of- : >
116. The mood of the speaker in Break, | .
Break, Break’ is— (1) PerSOnification
(1) energized () Simile

(2) contemplative and hopeful
(3) lighthearted il ©) metaphor
(4) somber and grieved

P-II/N | 45

(4)  alliteratioy,
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PART—V
Language—II

ENGLISH

IMPORTANT

Candldates should attempt questi
121 to 150), if they have opted for ENGLISH as Languag

ons from Part—V (Q. Nog,
e—II only.

Directions : Answer the following questions

(Q. Nos. 121 to 135) by selecting the
correct/most appropriate options.
121. Positive interference is a kind of—
! 7( (1) native language
/ (2) target language v
(3) foreign language |
(4) pictorial language

122. In learning the

multilingualism is—

(v\/ﬂ) ‘a burden
X (2) a methodology

/(3) an asset

new

(4) an interference

TechoﬂNoHdIn

123. Note taking is done—
\e (1) while Writing'an €ssay
\// < ;
(2) during a lecture

(3) while reading a review

(4) during extensive _reference work

P-II/N

language,

52

method of teaching fol'eigﬁ;

24. The . |
1 e without using the pupjy

languag .
first language 18—

(1)
(2) direct method L~

><~" (3) classical method
{4) grammar- -translation method

old method

125. Two words have identical sound and
spelling, but not related in meamng
It is known as—

(1) polysemy

% _1 (2) Homophone
(3) homonymy -
4

homograph

126. Language of word is not necessary
for—

\—\/(1) perceptual thinking
-2 1mag1nat1ve thmkmg
(3) conceptual thinking

(4) associative thinking

replaced basical]
(1)
(2)
(3)
(4)

e

Motivational Teaching :

Natura] Language Processmg
Structura] Teachmg (e

Sltuatlonal. Languag'e Teachiyg»‘



128. Students are not organisms. Which

one of the following methods sees
them as a whole person?

11) CLL

L’/ (2) CLT

(3) SLT

(4) Silent way

! 129. Writing is the

speech sounds.

representation of

4 (1) systematic

(2) alphabetical
)(\ (3) graphical "

(4) phonetic

Techofworld.In

. 130. When a teacher uses realia to teach
Z vocabulary and grammar, she is—

(1) teaching through true stories

(3) using real objects, actions and
real-life situations

(4) using computer technology

131. A poem whose first letters of each line
spell out a word is called—

(1) haiku
2) ‘alliterative
(3) epic
(4) acrostict”

y using role play as a learning | \ _
depes ' ' \/2) Auxiliaries

53

132. Decorum in spoken English pertains,
to—

(1) voice quality
(2) appropriate gestures v~

(3) 7 clarity and purity of style

<

(4) correct grammatical usage

133. Inquiry-based curriculum is based

on—

(1) aﬁalogical reasoning
(2 vdedvuctive reasoning
(38) inductive r;e_asoning

(4) heuristic reasoning

134. Which of the following are structural

words?

(1)

Conji.mctions
(3) Prepositions

(4) All of the above
/

135. Conventions bf writing‘include—— |
(1) good vocabulgry

(2) story ideas

(3) proper punctuationV”

(4) imagination

T Pmol



Directions Read the passage given
below and answer the questions that
follow (Q. Nos. 136 to 144) by selecting the
correct/most appropriate options.

‘The strength of Indian democracy lies in its
tradition, in the fusion of the ideas of
democracy and national independence which
was characteristic of the Indian national

movement long  before independence.
Although the British retained supreme
authority over India until 1947 , the

provincial elections of 1937 provided real

exercise in democratic practice before
national independence. During the Pacific
War, India was not overrun or seriously
invaded by the Japanese and after the War
was over, the transfer of power to. a
government of the Indian Congress Party
was a peaceful one as far as Britain was
concerned. By 1947, ‘ndianization’ had
already gone far in the Indian Civil Service
and army, so that the new government could

start with effective instruments of central

= Tachofworld.In

After independence, however, India was faced
with two vast problems, the first, that of

ethnic diversity and the aspirations of sub- -

nationalities. The Congress leadership was
more aware of the former problem than of the
second; as a new political elite which had
rebelled not only against the British Raj, but
also against India’s social order; they were
conscious of the need to initiate economic
development and uhdertake social reforms,
but as nationalists who had led a struggle
against alien rule on behalf of all parts of
India, they took the cohesion of the Indian
nation too much for granted and
underestimated  the - centrifugal forces of
ethnic Idivision, which were bound to be
accentuated rather than diminished as the

P-II/N

' impossible to

the Centre;

54

s were more and more drawp
e, The Congress Party wag
d to the idea of recognizing
linguistic basis ang

popula
into politics.
originally oppose€

e ——
any division of India o ' 8
prgferred to retain the old provinces of Britigh

India which often cut across linguistic
boundaries; it was only in response.to 'Strong
pressures from below that the prmmpl'e of
linguistic States was concedeé as the basis of
a federal ‘Indian Union’. The rights granted to
the States created new problems for the
Central Government. The idea of making

Hindi the national language of 2 united India
by - the recalcitrance of the

was thwarted '
other Indian

speakers  of important

languages, and ‘the autonomy of the States

central  economic  planning

rendered

| extremely difficult.

Land reforms remained under the control of
the States and many large-scale economic

'projects required a degree of cooperation
‘between the Central Government and one or
‘more of the States which it was found
Coordination = of
policies was difficult even when the Congress

achieve.

Party was in power both in the States and at

Delhi

harder.

136. Choose the word which is most nearly
the same in meaning as the word

n the passage. =

‘thwarted’ as ugeqd 1
>( (1) Diverted.
' (2) Opposed ™
(3) Implementeci

(4) Accepted

when a Congress government in |
was confronted with non-Congress
parties in office in the States, it became much

i




137. Choos_e the word which ig most
?pp031te in meaning of the word
conceded’ as used in the passage.

(1) Withdrawn

(2) Criticized

(C’ﬁ Rejected

)
@

Denounced

138. Why was central economic planning
found to be difficult?
(1)

Lack of will in implementing land
reforms

Multiplicity of States and Union
Territories '

@
>A )

(4)

Lack of coordination in different
government departments

Autonomy given to the States in
certain matters *~

Techofworld.In
139. Which one of the following problems
was India faced wit.h ' after

independence?

Increasing the production from a
very low level

(1)

(2) Military attack from across the

border

(3) Lack of coordination between the
Central and State Governmentsm

Improper coordination of various

government policies

(4)

P-I/N

55

140. Which one of the following issues was
not appropriately realized by the
Central Government?

(1) Centre-State relations

Ethnic diversity of the people

A national
country

language for the

N

(4) Implementation of the formulated

policies

141. Which, according to the passage,

‘ can be vcited as exercise in
- democratic practice in India before
independence?

Several democratic institutions
created by the Indian National
Congress

(1)
-,

The handing over of the power by
British to India

(2)

The Indianization of the Indian
Civil Service

(3)

v
None of the above

)

[ P.T.O.




142, Which one of the following statements
is not true in the context of the

passage?

(1) The Congress leadership was fully
aware of the problems of ethnic
diversity in India at the time of
independence. .~

(2) The Congress Party was originally
opposed to the idea of division of
States on linguistic basis.

(3) Economic development and social
reforms were initiated soon after
independence.

(4) The political elite in India rebelled
_ against the British Raj.

Why was the linguistic feorganization
of the States accepted?

143.

(1) Strong pressures from the States

were exerted on the Central

Government to create such States.™]

(2) The Statéé were not cooperating
' with the Central Government.

(3) Non-Congress governments in

the States demanded such a-

reorganization of the States.

(4) No common national language
could be emerged. '

Techofworld.In

144. India was not overrun by the
Japanese during the Pac1ﬁc War

because—

(1) Japan was ‘skeptica‘l' “about its

o

success in War
(2) Japan had friendly relations with
Britain
(3) Japan was interested in India’s

freedom

(4) None of 'th‘erabo{re e

P-II/N
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Directions Read the _
questlons

below and answer the e
follow (Q. Nos, 145 to 150) by selecting

correct/most appropriate options.

“A  principal fruit of friendship”, Francis

) ol i ot n the
Bacon wrote in his timeless meditation o

“is the ease and discharge of the

subject,
e heart, which

fullness and swellings of th
passions of all kinds do caus
For Thoreau, friendship was one of life’s great

rewards. But in today’s cultural landscape

e and induce.”

of muddled relationships scattered across
various platforms for connecting, amidst
constant debates about whether

Facebook friendships’ are making us more

our

or less happy, it pays to consider what

friendship actually is. That’s precisely what

CUNY Philosophy professor = Massimo

APigliucci explores in Answers for Aristotle :

How Science and th'lbsophy Can Lead Us to a=
More Meaningful Life (public library), which
also gave us this provocative read on the

science of what we call ‘intuition’.

Philosophers and cognitive scientists agree
that friendship is an essential ingredient of
But_ beyond the dry

academic definitions—like, say,

human happlness

“voluntary

‘interdependence between two persons over

time, which is intended to facilitate

sgcio-emotional goals of the participants, and
may involve varying types and degrees of

companionship, intimacy, affection and
mutual assistance’—lies a body of compelhng
research that sheds l1ght on how, precisely,
friendship augments _happiness. The way

friendship enhances well-being, it turns out
» ¢

56



ven
hat
the

cis

has

Tec

nothj i '
othing to do with  quantity and

everything to (o with quality—researchers

confirm that it ign’t the number of friends (or,

in the case of Facebook

145.

146.

v

147.

7

‘friends’).

Th i

ht.a change in the present situation
Which has forced us to rethink the
concept of friendship is—

(1) friendships are not possible in
the real world anymore, due to
over-competition

Bacon and Thoreau’s theories are
no longer available to read

the arrival of social media on the
scene '

there is more
sciences

interest in the

Friendship leads to happiness. Is it
true? ;

(1) One needs to find
happiness alone, with peace of

mind

one’s
Sy

(2) Yes, researches have proven that

& friendship does lead to happiness

(3) No, there Iis ‘no relationship
between friendship and
happiness 5 v

(4) Friendé cannot make each other
happy

Did Pigliucci’s book discuss intuition

too? _

(1) Yes d

No, it only discussed friendship

(2)

ed science and

(3) It just. explain
< philosophy
4) It discussed Aristotle’s theories

P-II/N

148.

149.
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Is the quality of friends important?

(1) No, quality comes automatically
with quantity

(2) No, it is important to have more
number of friends, quality does
not matter

(3) No, number of comments on
social networking ' sites is
important, not the quality of
friends

Yes, it matters

As per the first paragraph, what are
debates about?

Thoreau and Aristotle’s thinking
is at loggerheads.

) They are centered around

¢ whether our Facebook friends are

helping us become more or less
happy. '

There are no debates around
friendship.

(4) " The quality of comments of social
media is debatable.

The word that is opposite in meaning
to the word ‘muddled’ is—

(1) rumpled
>(2) confusedl
(3)

chaotic

ordered \/

(4)
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READ THE FOLLOWING INSTRU

1.

" from the information given in the Admit Card.
. Candidates are not allowed to carry any textual

10.

11.

12,
13.

. Out of the four alte

. The candidates will write t

. OMR Answer Sheet. Hence, no information should

" Hall/Room. Failing to comply with this instruction,

" including cancellation of examination.
. Each candidate must show on demand his/her

" “Hall/Room  without handing over their Answer

CTIONS CAREFULLY .

n the different qqestiong are
been explained in the Tegt
should read carefully befors
the questions.
rnatives for ea‘ch q%es:;iionl; only
i for the correct answer 18 to be darkeneg
zﬁgﬁlﬁy with Black/Blue Ballpoint Pen op
Side-2 of the OMR Answe€r Sheet. Téle answer once
marked is not liable to be changed.
The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No,
anywhere else except in the specified space in the
Answer Sheet. '
Handle the Test Booklet and Answer Sheet with
s under no circumstances (except for
& Test Booklet Code or Number and
Number), another set will be

The manner in whic
to be answered has
Booklet which you
actually answering

care, a 1
discrepancy 1
Answer Sheet Code or

rovided. -
P he correct Test Booklet

i i the Test
Code and Number as given - 1in
Booklet/Answer Sheet in the Attendanc.e Sl:xeet,
A machine will read the coded information in the

be left incomplete and it should not be different

material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other
material except the Admit Card
Examination Hall/Room..

inside the

. Mobile phones, wireless communication devices| [

(even in switched ‘off mode) and the other banned |
items should not be brought in the Examination |

it will be considered as using unfair means in the
examination and action will be taken against them

Admit Card to the Invigilator. ’
No candidate, without special permission of the
Centre Superintendent or Invigilator, should leave
his/her seat: ! ; )
The candidates should not leave the Examination |

Sheet "to-the Invigilator on duty and sign the |
Attend_anqe Sheet twice. Cases wtt}:ere : c?r%didate b
hgs not signed the Attendance Sheet second time |
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Answer Sheet and dealt with as an unfair means |
case. The candidates are also required to put|
their left hand THUMB impression in the space | :
provided in the Attendance Sheet. ‘

_Use of Electronic/Manual Calculator s prohibited. »

The candidates are governed b all :
: Rules and
Regulations of the Examining Bo?i’y with regard to

| their conduct in the Examination Hall/Room. Al |

14.

15.

cases of unfair means will be dealt with as per | .
Rules and Regulations of the Examining Body.
No part of the Test Booklet and Answer Sheet shall |
be detached under any circumstances. g
On completion of the test, the candidate must

hand over the Answer Sheet to the Invigilator
in the Hall/Room. The candidates are allowed
to take away this Test Booklet with them.
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